KURYAKYNU¢

INSTALLATION INSTRUCTIONS
FRONT AXEL NUT CAPS, CHROME 1214

THANK YOU FOR CHOOSING KURYAKYN!

Protect yourself and others from possible injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices regarding the installation, use, and care of this product.

A WARNING

A CAUTION

NOTICE

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR SERIOUS INJURY.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN RESULT IN MINOR OR MODERATE POTENTIAL INJURY.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN MAY NEGATIVELY AFFECT PRODUCT PERFORMANCE AND FUNCTIONALITY OR
DAMAGE THE PRODUCT ITSELF OR THE PRODUCT TO WHICH IT IS BEING ATTACHED.

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT:

1
1
2

Axel Nut Cap, Right
Axel Nut Cap, Left
10-32 x 1/4” Socket Set Screw

YOU WILL ALSO NEED:

Hex wrench set

NOTICE

STEP 1

STEP 2

STEP 3

NOTICE

PICTURES SHOWN ARE OF THE BLACK PARTS. INSTALLATION OF THE CHROME PARTS WILL BE THE SAME.

THESE INSTALLATION INSTRUCTIONS CONTAIN IMPORTANT INFORMATION. ENSURE THE END USER RECEIVES THIS COPY AND IS AWARE
OF ITS IMPORTANCE FOR FUTURE USE.

Read and understand all steps in the instructions before starting the PIC 1

installation. Park the motorcycle on a hard, level surface and turn off LEFT RIGHT

the ignition. Let motorcycle cool. (CLUTCH) (BRAKE)

SIDE SIDE

AXEL CAP AXEL CAP

Refer to PIC 1 through 4. Identify the right side axle cap. Thread the

10-32 x 1/4” Socket Set Screw into the cap and install on the axle with

the set screw facing down. Tighten the set screw to prevent the cap L .

from moving. 10-32 X 1/4” SOCKET SET SCREW

Refer to PIC 1 and 2. Identify the left side axle cap. Thread the PIC 2

10-32 x 1/4” Socket Set Screw into the cap and install on the axle with
the set screw facing down. Tighten the set screw to prevent the cap
from moving.

IT IS THE INSTALLER’S RESPONSIBILITY TO ENSURE THAT ALL OF THE
FASTENERS (INCLUDING PRE-ASSEMBLED) ARE TIGHTENED BEFORE
OPERATION OF THE MOTORCYCLE. KURYAKYN WILL NOT PROVIDE
WARRANTY COVERAGE ON PRODUCTS OR COMPONENTS LOST DUE
TO IMPROPER INSTALLATION OR LACK OF MAINTENANCE. PERIODIC
INSPECTION AND MAINTENANCE ARE REQUIRED ON ALL FASTENERS.

Discover various motorcycle custom accessories and trim in our online store.


https://www.motorcycleid.com/kuryakyn/
https://www.motorcycleid.com/custom-accessories-trim.html



